
Degree Obtained Program Number of Degrees Conferred
Associate of Arts Liberal Studies 1

Degree Obtained Program Number of Degrees Conferred
Associate of Science Business Administration 1

Associate Degree Obtained Program Number of Degrees Conferred
Associate of Arts Liberal Studies 1
Associate of Science Business Administration 1
Certificate (30 Credit Hours) Genderal Studies 2

Degree Obtained Program Number of Degrees Conferred
Associate of Science Business Administration 2
Certificate (30 Credit Hours) Genderal Studies 12

Degree Obtained Program Number of Degrees Conferred
Associate of Applied Science Early Childhood Education 1
Certificate (30 Credit Hours) Genderal Studies 2

Degree Obtained Program Number of Degrees Conferred
Associate Science Business Administration 3
Certificate (30 Credit Hours) Genderal Studies 3

Degree Obtained Program Number of Degrees Conferred
Associate Science Business Administration 3
Associate Science Criminal Justice 1
Associate of Arts Liberal Studies 1
Associate of Arts Social Sciences 1
Certificate (30 Credit Hours) Genderal Studies 6

Degree Obtained Program Number of Degrees Conferred
Associate of Applied Science Applied Technology 1
Associate Science Criminal Justice 2
Certificate (30 Credit Hours) Genderal Studies 2

Degree Obtained Program Number of Degrees Conferred
Associate Science Business Administration 2
Associate of Arts Liberal Studies 1
Certificate (30 Credit Hours) Genderal Studies 3

Fall 2021

Spring 2022

Summer 2021

*NPRC began it's independence in the Spring Term of 2020. Therefore, 150% and 200% graduation rates are currently 
unavailable. Raw numbers of program graduates are below. 

NPRC Graduate Summary*

Spring 2020

Summer 2020

Fall 2020

Spring 2021

Total Number of Graduates = 1

Total Number of Graduates = 1

Total Number of Graduates = 2

Total Number of Graduates = 12

Total Number of Graduates = 2

Total Number of Graduates = 3

Total Number of Graduates = 7

Summer 2022

Total Number of Graduates = 4

Fall 2022

Total Number of Graduates = 3


